(ErRON)’

REST PADS No.E-783
— (o] R\ Y A\ Y

d5208E2S >/

CBF:SNCM220 CBS:E$x CBJFILU*

CBF:6E AHRC60~62

CBF CBS CBJ B E CBFB4)
HFIWU VT ARALDBREHECTT .

OS5 FN—EDSIHTIIMT, D—IDHTELTTH

R<rZEL,
08 OCBS (&) .CBJ (#1fE) 9 1 (& B BT —T -+ FIFRIC
; BLTHT,
y g
!
e RS
HES 12 CBF (SNCM220) CBS (&) CBJ (1859)
AGtE) B | C D |#9-No| No. |EEg| ffi#& |7-5-No| No. |EEg| ffi#E |#-9-No| No. |&Eg| Ak
M5x0.8 10 10 5 |51132|CBF051010| 5| 2,740 |51142|CBS05-1010| 1 | 2,660 |51147|CBJ0S-1010| 1 | 2,580
M5X0.8 10 12 6.4 |51133|CBF05-1012| 62,770 | - - - | - |51148|CBJ05-1012| 1 | 2,610
M5x0.8 12 10 5 |51134|CBF05-1210| 8 | 2,880 51143 |CBS05-1210| 2 | 2,780 51149 |CBJ05-1210| 2 | 2,700
M5X0.8 12 12 6.4 |51135|CBF05-1212| 10 | 2,910 | - - - | - |51150|CBJ05-1212| 2 | 2,740
M6X1.0 16 10 5 |51136|CBF06-1610 15 | 3,110 |51144 | CBS06-1610| 3 | 3,060 |51151|CBJ06-1610| 3 | 2,970
M6X1.0 16 12 6.4 |51137|CBF06-1612| 18 | 3,140 | - - - | - |51152|cBI06-1612| 3 | 3,010
M6X1.0 20 10 5 |51138|CBF06-2010| 23 | 3,400 |51145|CBS06-2010| 4 | 3,380 |51153|CBJ06-2010| 4 | 3,280
M6X1.0 20 12 6.4|51139|CBF06-2012| 28 | 3,440 | - - - | - |51154|CBJ062012| 5 | 3,310
M6X1.0 25 10 5 |51140 CBF06-2510| 37 | 3,580 |51146|CBS06-2510| 7 | 3,540 |51155|CBJ06-2510| 7 | 3,440
M6X1.0 25 12 6.4|51141 |CBF06-2512 44 | 3,630 | - - - | - |51156|CBI06-2512| 8 | 3,470
(ERON)’
CLAMP BUTTONS No.E-980

—_— A\ Y ~
IS5 TIRI
CB:SUM22 CBS:E$&k CB-N:F+OV
CB:gE AHRC45~50 CB:E2%)

CB CB-S CB-N o8
|
j U
} a 947 | ADFFEE
= CB 1867
‘ CB-S | 13%¢
W% = oh CB-N 1868
CB(SUM22) CBS(E503) CBN(FAO)

A B C D E

F—%—No.| No. |B2g| f{fi4§ |Z#—5—No.| No. |E8g| f{fi#E |Z#—5—No.| No. |ZEg f{i#s
6 10 6 6 R10| 38396 |CB6| 5|1,490 | 38398 |CB6S| 5| 1,730 | 38400 |CB6N| 4 | 1,490
8 13 6 8 R13| 38397 | CB8|10|1,510| 38399 |CB85|10| 1,970 | 38401 |CB8N| 6 | 1,510

M—LR—=IT CAD T—9IDI U YO—REEERAN TEET,

S
6))

ANANUANNGVIAN IR 6 |

o

(AU ANAGVNRE NNV B




	F214J_0455

